12,

J (S‘M x __j"-;i ) {1+ F05(1h))'('os?( ~—§m7<[~3m(17])-2 3” L
< = 4 [+ (os (2! [[ + (o ¢ .
d?( ¢ S(Z'k)} . So lu“‘lOﬂ.S

3
g{’i: %3-4/2%—5)-2 + (1x~5)y-39<2
dy = S Sec (vx)-d F Fun (vx) - 35m x (005 %)
oK

2
0%% = 3( 1+ s (0)) + Rews (10 (5 () - T
| N

—g:% = ‘;f [%an(Sx)> » Sec 2(_"5&) - 5
_g,/';o‘ct = 2 (x—sfn(sxﬂ y (f-COSCBX)-.%_)

—-5 s
_g_/‘% = ~2(7_x+\f-x—> (2 + 4 9:”->

~3

PN e D S
‘f‘a;"fﬁ‘mf 290009 7x)

—

' %ﬁ[?(acx”’?); - ')[W!Lfﬂfx) +f><> {2”('?(} - \]

| CJ : 2 ] 2 "”/1.
. Z \,~F (x)fﬁ '(K)J Y ('r ) 4 SL(K)B : [Z—F(x)—[\;}) U ZJ () (j /(kﬂ

I

Q—i“[ﬁfx).ggml = foo. 38&@) 3 ) + 93(><) - F )

J £5x) (3’)(‘ Cheo) - 2 Fecy e re N L3 o b))t
I [ o) stworh it
h [-37("%\ O\.(x)):l




BC.Q102.L3."CHART PRACIICE" HWSOLUTION:S

#1.
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#2.
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A. Find [f(g(x))] at x=2

[#7) = £ [309) .95
#Txses FLol)- gl () (5 = 1
X B Find \J()] atx=2 ,
[mj/ _[Bz(,(] F %)
! I !

L.
I*'T X‘:l-nv —(’P(l)} ‘F(L) -i\’__e_ —g ot é'_.J...__—é__

/
<p\ C. Find{ 21 Jatx=3

g (x)

-3
[ = 2lgecd] g o

T3 — } .5 _ -0
b e e 2 [a0d] -y = 27 T T 5

D. Find [mﬂth
’ /
[J Fl(x)aam)] = -— (f (k)fa (x [2 -P()c)-F () T ZJ(x)j/x)]

/

AT ¥=2 ° J::((obf‘f“”/) .[.2-3’--'3+3""("3>j

N R e L /l]_—;g
> o8 E] | 3dts



#3.

S ! g g
1 5 1 13
1 3 -1/3 -8/3

A. Find [£(g)] at x=0 B[g(x)}] 7C[3“°> J(X)
AT y=o : 79(3(63) °J/°> e R W T

9

! -3
B. Find [(¢(x)+ f(0)) "] at x=1  [fgw N /goc;. ¢ Fexy) L90xs t #%x)]

e =50 ) [y ]

) - el
+ (©) Find [g* 0] at x =0 [seng’es)s $eny 39'0 500 + 9’y Flx)
AT xso: ?(03.3(3(0)1-3%) ; 35/0¥ /e

= Je3 ey 3 0+ 45 —“'/7‘-5:@

‘V@Flndl:f()il -F()c)l /6(\!)-}—;3'?(\:)"[[&)&(%}.

glx)+1 NIRRE I —
9(K) kfl

AT = [3((>4lj$(;}—~wc(lj(f)
| [3(1)*0




	AB.Q104.L4.CLASSHWSOL.pdf
	BC.Q102.L3.HWSOL



